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QUESTION 1

The following PeopleCode program compares two editable fields on a component. 

On which event or events should the program be placed? 

A. FieldEdit and RowInit 

B. SaveEdit and SavePreChange 

C. SaveEdit 

D. FieldChange and SavePreChange 

E. SaveEdit and RowInit 

F. FieldEdit 

Correct Answer: B 

Reference: https://docs.oracle.com/cd/E41633_01/pt853pbh1/eng/pt/tpcd/task_PeopleCodeEvents074aba.html 

 

QUESTION 2

At what occurs level is the Reviewer Details scroll area? 
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A. 1 

B. 3 

C. 2 

D. 4 

E. 0 

Correct Answer: A 

Reference: https://docs.oracle.com/cd/E25688_01/pt852pbr0/eng/psbooks/tapd/htm/tapd14.htm 

 

QUESTION 3

Which statement is correct about the following PeopleCode statement? 

A. RO_ROWSET is the superclass of the Rowset class 

B. Rowset is the superclass of the RO_ROWSET class 

C. RO_ROWSET is an instance of the Rowset class 

D. Rowset is a subclass of the RO_ROWSET class 

E. RO_ROWSET is an application class in the Rowset application package 

Correct Answer: D 
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QUESTION 4

A colleague needs to update a custom cascading style sheet (CSS) style for your team\\'s fluid application. She has the
style definition shown in this exhibit open in Application Designer, but isn\\'t sure if she has opened the correct style
definition and asks for your advice. 

How do you know she does not have a fluid CSS style open? 

A. The fluid user interface does not use the Arial or the sans-serif fonts. The fluid user interface uses only the Lucida
Grande and Helvetica Neue fonts 

B. In the fluid user interface, font color is not set on the style definition. The current branding theme is what determines
the font color for the fluid user interface display 

C. The fluid user interface does not use absolute font sizes. Only relative font sizes apply to the dynamic nature of the
fluid user interface 

D. The fluid user interface uses only free form style sheets, and this style sheet is a fixed from style sheet 

E. Fluid style sheets all have _FL appended to the style name 

Correct Answer: D 

Reference: http://technoeureka.blogspot.com/2018/03/applying-css-styling-to-field-values-on.html 
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QUESTION 5

Review the definition of the Calculate user-defined function. 

Then, review the invocation of this Calculate function in a FieldChange program: 

Which two corrections are required to allow these PeopleCode programs to be saved as syntactically correct programs
that produce valid results? (Choose two.) 

A. In the FieldChange program, move line 3 to become line 1 

B. In the function definition, delete the in and out modifiers on line 1 

C. Delete line 3 from the function definition. In the FieldChange program, add the following as line 5: andincr = 0; 

D. Replace line 4 in the FieldChange program with the following: 

Correct Answer: BD 
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